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Entries  780213

Mean x   4.972±  376.9 

Mean y  0.04284± -14.54 

RMS x   3.515±  479.4 

RMS y  0.03029±  4.131 

Integral     9297
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Entries  780213

Mean x   5.841±  441.9 

Mean y  0.03926± -14.13 
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Integral     9527
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Entries  780213

Mean x   5.488±  414.6 

Mean y  0.03936±  -14.5 

RMS x    3.88±  528.4 

RMS y  0.02783±   3.79 

Integral     9272
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Mean x   5.437±    410 

Mean y  0.03943± -14.49 

RMS x   3.844±  524.9 

RMS y  0.02788±  3.807 

Integral     9322
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Mean x  0.001606± 0.02559 

Mean y  0.06177± -14.26 

RMS x  0.001135± 0.1153 
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